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1. Introduction
In [1] several channel models are outlined for testing the requirement of improvements for HST. This paper reflects a view for the implementation in the channel emulator for a test equipment. 
2. Discussion
In [1] a unidirectional SFN scenario is defined, where a UE moves with constant velocity v along a track with equidistantly spaced RRHs (distance = Ds).

Figure 1 shows locations of RRHs and UE for three different time instances. One observes that the signal sb() transmitted from RRH n+1 exhibits a relative time delay of ∆ w.r.t. the signal transmitted from RRH n. Thus the absolute delay of sb() is continuously increasing during the simulation/test time.
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 Figure : Location of UE and RRHs (seen from UE) for three different time instants. Signals sb() transmitted from the respective RRHs are displayed as well.
This can also be observed directly from equations 6.4.3.3.1-1 and 6.4.3.3.1-2 in [1], i.e.:
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where i is a relative index of the RRH the UE receives a signal from at time t, i.e. 0≤i≤2.

In practice, the signal delay that can be realized in a channel emulator of a test equipment is finite and thus the generation of a continuously increasing delay is not possible.

In order to overcome this problem, we must have Δ=0 in equation 6.4.3.3.1-1.
3. Conclusion
In order to overcome the problem of the generation of a signal with continuously increasing delay, the Δ in equation 6.4.3.3.1-1 shall be set to Δ=0.
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